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Passage:
 The factor of geographical distribution is equally, possibly even more, significant that English is spoken as first or native

language in at least four continents of the world, Russian in two, Chinese and the Indian language in one. English is without
question the closest approach to a world language today. It goes without saying that no two persons ever have an identical
command of their common language. Certainly, they have not precisely the same vocabulary. There are at least minor
differences in pronunciation, indeed the same individual will not pronounce his vowels and consonants in absolutely identical
fashion everytime he utters them. Everyone possesses, in addition, certain individual traits of grammatical form and
syntactical order, constituting that peculiar and personal quality of language which we term as style. 'Style is the man.' No
men are identical, no two styles are the same. If this be true of but two persons, the potential of differences resident in a
language spoken by more than 200 million truly staggers imagination.
 

Itemcode : CI1072
Q1 : The author argues that English is the closest approach to a world language because

(a)  there are more native speakers of English than of any other language
 (b)  English has less number of mutually unintelligible dialects

 (c)  the geographical distribution of English covers a much greater area
 (d)  other languages are much too complex to be world languages

 Key: A
  

Itemcode : CI1073
Q2 : The fact that the same individual will not pronounce his vowels and consonants identically everytime shows that

(a)  literary style varies from person to person
 (b)  mutually intelligibility is a myth

 (c)  vocabulary varies from individual to individual
 (d)  no two persons speak the same language exactly the same way

 Key: D
  

Itemcode : CI1074
Q3 : It is evident from the passage that style is

(a)  a strange type of language
 (b)  a language where one does not have to be particular about correctness and grammar

 (c)  language used in a particular way by an individual
 (d)  a question of grammatical and syntactic correctness

 Key: C
  

Itemcode : CI1075
Q4 : According to some authorities

(a)  more people speak Chinese dialect than English
 (b)  more people speak English as an auxiliary language than as first language

 (c)  more people speak English in the UK than in England
 (d)  about one-fourth of the world's population speaks English

 Key: D
  

Itemcode : CI1076
Q5 : The overall implication of the passage is that

(a)  to suppose that 230 million people speak English as a native language would certainly be an underestimate
 (b)  the 55 million inhabitants of the British Isles speak like the 30 million inhabitants of the dominions and colonies

 (c)  a little less than half the native English speakers in the world live in the US
 (d)  About one-tenth of the total English speaking world population lives in British dominions and colonies

 Key: A
 

Itemcode : CI1062
Q6 : A man starts his morning walk facing East. He turns 25 degree in the anticlockwise direction and then 105 degree in the

clockwise direction and again 270 degree in the anticlockwise direction. Find which direction he is facing now?

(a)  South west
 (b)  North West
 (c)  North

 (d)  East south
 Key: A
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Itemcode : CI1063
Q7 : Statements: All the Engineers are Bachelors. All the Bachelors are Intelligent.

  
Conclusions:1)All the intelligent people are Bachelors.2)All the Engineers are intelligent 3)All the Bachelors are
Engineers.4)Some intelligent people are Engineers.

(a)  Only (1) and (4)
 (b)  Only (3) and (4)
 (c)  Only (2) and (4)
 (d)  Only (1) and (2)
 Key: C

 

Itemcode : CI1064
Q8 : 80 fishermen can catch 2000 fishes in 10 days working 6 hours a day. In how many days 20 fishermen can catch 3000

fishes working 5 hours a day?

(a)  70
 (b)  68
 (c)  72
 (d)  74
 Key: C
 

Itemcode : CI1065
Q9 : A train 100m long travelling at 96km/hr. passes another train, which is travelling at 120km/hr. travelling in opposite

direction, in 8 seconds. Then the length of the second train is

(a)  300m
 (b)  280m
 (c)  200m
 (d)  380m
 Key: D

 

Itemcode : CI1066
Q10
:

_____________least number must be added to 1056, so that the sum is completely divisible by 23 ?

(a)  2
 (b)  3
 (c)  18
 (d)  21
 Key: A
 

Itemcode : CI1067
Q11
:

Which of the following is a prime number ?

(a)  33
 (b)  81
 (c)  93
 (d)  97
 Key: D
 

Itemcode : CI1068
Q12
:

Odd man out:7, 8, 18, 57, 228, 1165, 6996

(a)  8
 (b)  18
 (c)  57
 (d)  228

 Key: D
 

Itemcode : CI1069
Q13
:

Odd man out:445, 221, 109, 46, 25, 11, 4

(a)  221
 (b)  109
 (c)  46

 (d)  25
 Key: C
 

Itemcode : CI1070
Q14
:

Each question has an underlined word followed by four answer choices. You will choose the word that is a necessary
part of the underlined word.

 harvest

(a)  autumn
 (b)  stockpile
 (c)  tractor

 (d)  crop
 Key: D

 

Itemcode : CI1071
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Q15
:

Each question has an underlined word followed by four answer choices. You will choose the word that is a necessary
part of the underlined word desert

(a)  cactus
 (b)  arid

 (c)  oasis
 (d)  flat

 Key: B
 

Itemcode : CI1052
Q16
:

Which of the following measurements is not a unit of distance?

(a)  Ammeter
 (b)  Cubit

 (c)  Parsec
 (d)  angstrom

 Key: A
 

Itemcode : CI1053
Q17
:

Pitch of a sound depends upon its:

(a)  Wavelength
 (b)  Frequency

 (c)  Amplitude
 (d)  Overtones
 Key: B

 

Itemcode : CI1054
Q18
:

The 'Cannes Award' is given for excellence in which field?

(a)  Journalism
 (b)  Films

 (c)  Economics
 (d)  Literature
 Key: B

 

Itemcode : CI1055
Q19
:

Who amongst the following is the first Indian Woman Won Pulitzer prize?

(a)  Arundhati Roy
 (b)  Kiran Desaiwrong

 (c)  Jhumpa Lahiri
 (d)  Manjula padmanabhan

 Key: C
 

Itemcode : CI1056
Q20
:

When the World Population Day is observed?

(a)  June 7
 (b)  July

 (c)  July 11
 (d)  July 28
 Key: C

 

Itemcode : CI1057
Q21
:

The name of the Laccadive, Minicoy and Amindivi islands was changed to Lakshadweep by an Act of Parliament in

(a)  1970
 (b)  1971
 (c)  1972
 (d)  1973
 Key: D

 

Itemcode : CI1058
Q22
:

Abdul Kalam Azad became the ____ President of India.

(a)  9th
 (b)  10th
 (c)  11th
 (d)  12th
 Key: C

 

Itemcode : CI1059
Q23
:

Supreme Court Judges retire upon attaining the age of

(a)  65 years
 (b)  62 years
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(c)  68 years
 (d)  70 years
 Key: A

 

Itemcode : CI1060
Q24
:

When was the Rashtriya Swayamsevak Sangh built?

(a)  26 November 1935
 (b)  15 August 1947

 (c)  27 September 1925
 (d)  26 January 1950

 Key: C
 

Itemcode : CI1061
Q25
:

The first general elections under the Indian Constitution were held in ________.

(a)  1948
 (b)  1957
 (c)  1952
 (d)  1950
 Key: C

 

Itemcode : CI1001
Q26
:

Which of the following is not related to Durkheim's work?

(a)  Sacred and profane
 (b)  Distinction between normal and pathological

 (c)  Non-logical action
 (d)  Functional approach

 Key: C
 

Itemcode : CI1002
Q27
:

Which of the following is Weber's German word for study of action through interpretative means?

(a)  Verstehen
 (b)  Wirtschaft
 (c)  Verhalten

 (d)  Verband
 Key: A

 

Itemcode : CI1003
Q28
:

Which of the following is the title of Karl Marx's thesis?

(a)  On the Differences between the Natural philosophy of Democritus and Epicurus
 (b)  Das Capital

 (c)  The Man versus the State
 (d)  A Contribution to the Critique of Political Economy

 Key: A
 

Itemcode : CI1004
Q29
:

Which of the statement describes Bronislaw Malinoswki's work?

(a)  Culture functioned to meet the needs of individuals rather than society as a whole.
 (b)  Strong proponent of the value of historical perspective in anthropology.

 (c)  The cultural conditioning of sexual behaviour.
 (d)  Movements known as Historical Particularism and Cultural Relativism.

 Key: A
 

Itemcode : CI1005
Q30
:

Who gave the concept of pattern variables?

(a)  Robert K. Merton
 (b)  Margaret Mead

 (c)  Talcott Parsons
 (d)  A. R. Radcliffe-Brown

 Key: C
 

Itemcode : CI1006
Q31
:

Identify the thinker associated with the concept 'significant symbols'

(a)  C. H. Cooley
 (b)  Herbert Blumer

 (c)  W. I. Thomas
 (d)  G. H. Mead

 Key: D
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Itemcode : CI1007
Q32
:

Who coined the term Cultural Capital?

(a)  Michel Focault
 (b)  Pierre Bourdieu
 (c)  Anthony Giddens

 (d)  Antonio Gramsci
 Key: B

 

Itemcode : CI1008
Q33
:

Which school of thought did Jurgen Habermas belong to?

(a)  Chicago school
 (b)  British school

 (c)  Frankfurt school
 (d)  French school

 Key: C
 

Itemcode : CI1009
Q34
:

Which of the following is not Manuel Castells work?

(a)  The Network society
 (b)  End of Millennium

 (c)  The Internet Galaxy
 (d)  The Modern society
 Key: D

 

Itemcode : CI1010
Q35
:

Which perspective is Erving Goffman associated with?

(a)  Symbolic Interactionism
 (b)  Social Exchange

 (c)  Dramaturgy
 (d)  Ethnomethodology

 Key: C
 

Itemcode : CI1011
Q36
:

Which concept does not belong to culture?

(a)  Xenophobia
 (b)  Agoraphobia
 (c)  Ethnocentrism

 (d)  Artifacts
 Key: B

 

Itemcode : CI1012
Q37
:

Who is the author of the book 'Global Diasporas'?

(a)  Robin Cohen
 (b)  Stephen Cohen

 (c)  Harlan Cohen
 (d)  Michael Cohen
 Key: A

 

Itemcode : CI1013
Q38
:

Which of these is an example of ascribed status?

(a)  Promotion of an LDC to UDC.
 (b)  A bank officer becomes a manager.

 (c)  Appointment of a successor of Dalai Lama.
 (d)  A city government teacher transferred to a village school.

 Key: C
 

Itemcode : CI1014
Q39
:

Who is the author of the book 'Social Stratification'?

(a)  G. S. Ghurye
 (b)  Irawati Karve
 (c)  M. N. Sriniwas
 (d)  Dipankar Gupta

 Key: D
 

Itemcode : CI1015
Q40
:

Which of these is not a Scheduled Tribe?
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(a)  Angami
 (b)  Bagata
 (c)  Moplahs
 (d)  Bedaru

 Key: D
 

Itemcode : CI1016
Q41
:

In which year was the Mandal Commission constituted?

(a)  1979
 (b)  1980
 (c)  1982
 (d)  1984
 Key: A

 

Itemcode : CI1017
Q42
:

Who created the Zamindari system?

(a)  Lord William Bentinck
 (b)  Lord Cornwallis

 (c)  Sir Thomas Munro
 (d)  Sir Henry Paine

 Key: B
 

Itemcode : CI1018
Q43
:

Which of these statements does not relate to bureaucracy?

(a)  Division of labour
 (b)  Hierarchical coordination and control

 (c)  A body of nonelected government officials
 (d)  A state or society governed by one person with absolute power

 Key: D
 

Itemcode : CI1019
Q44
:

Who gave the term 'Creamy layer'?

(a)  Justice Krishna Iyer
 (b)  Kaka Kalelkar

 (c)  Ramnath Kovind
 (d)  Abdul Kalam

 Key: A
 

Itemcode : CI1020
Q45
:

Which of these is not a model of economic growth?

(a)  W.W. Rostow's Stages model
 (b)  Harrod-Domar Growth model
 (c)  Lewis Structural Change model

 (d)  L. Brento's Increasing Prosperity model
 Key: D

 

Itemcode : CI1021
Q46
:

Which of these does not apply to an ethnic enclave?

(a)  Social capital
 (b)  Assimilation and integration

 (c)  Chain Migration
 (d)  Hereditary occupation

 Key: D
 

Itemcode : CI1022
Q47
:

Who was the first head of the department of sociology at Bombay University?

(a)  G. S. Ghurye
 (b)  Radhakamal Mukherji

 (c)  Patrick Geddes
 (d)  Dr. A. R. Desai
 Key: C

 

Itemcode : CI1023
Q48
:

Name the scholar who believed animism to be the earliest form of religion.

(a)  Max Muller
 (b)  Emile Durkheim

 (c)  Evans Pritchard
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(d)  E. B. Tylor
 Key: D

 

Itemcode : CI1024
Q49
:

Which of these is an example of intra-generational mobility?

(a)  A peon's son becomes a bank officer
 (b)  A peon becomes a clerk

 (c)  A doctor's son becomes an engineer
 (d)  A teacher's daughter becomes an architect

 Key: B
 

Itemcode : CI1025
Q50
:

Which of these scholars is not associated with kinship studies?

(a)  Albert Bandura
 (b)  Henry Maine

 (c)  Lewis Henry Morgan
 (d)  Levi-Strauss

 Key: A
 

Itemcode : CI1026
Q51
:

In which state did the Tebhaga movement originate?

(a)  Gujarat
 (b)  Bengal
 (c)  Telangana

 (d)  Tamilnadu
 Key: B

 

Itemcode : CI1027
Q52
:

In which year the Dowry Prohibition Act came into force?

(a)  1961
 (b)  1971
 (c)  1981
 (d)  1984
 Key: A

 

Itemcode : CI1028
Q53
:

Which of these is not an NGO?

(a)  Butterflies India
 (b)  Marg

 (c)  Deepalaya
 (d)  Mitra

 Key: B
 

Itemcode : CI1029
Q54
:

The origin of democracy as an idea and practice goes back to which city-states?

(a)  Paris-France
 (b)  Munich-Germany

 (c)  Athens-Greece
 (d)  Rome-Italy

 Key: C
 

Itemcode : CI1030
Q55
:

What is the silver revolution associated with?

(a)  Fertiliser production
 (b)  Fish production

 (c)  Egg production
 (d)  Petroleum production

 Key: C
 

Itemcode : CI1031
Q56
:

Which department was involved with the 2G Spectrum Scam?

(a)  Agriculture and fodder
 (b)  Telecommunications

 (c)  Electricity
 (d)  Sports

 Key: B
 

Itemcode : CI1032
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Q57
:

Which of these is not a protest religion in India?

(a)  Zoroastrianism
 (b)  Buddhism

 (c)  Sikhism
 (d)  Jainism
 Key: A

 

Itemcode : CI1033
Q58
:

Which type of pollution causes acid rain?

(a)  Water
 (b)  Sound
 (c)  Industrial

 (d)  Thermal
 Key: C

 

Itemcode : CI1034
Q59
:

In which state did the 'Silent Valley Movement' take place?

(a)  Karnataka
 (b)  Andhra Pradesh

 (c)  Tamilnadu
 (d)  Kerala

 Key: D
 

Itemcode : CI1035
Q60
:

In which year was the Rights of Persons with Disabilities Act passed?

(a)  2012
 (b)  2014
 (c)  2016
 (d)  2018
 Key: C

 

Itemcode : CI1036
Q61
:

Which of the following is not related to Neoliberalism?

(a)  Eliminating price controls
 (b)  Deregulating capital markets

 (c)  Lowering trade barriers
 (d)  Laissez-faire economic policy

 Key: D
 

Itemcode : CI1037
Q62
:

Which of the following statement describes 'Teknonymy'?

(a)  When the maternal uncle has pre-eminent place in the life of his nephews and nieces.
 (b)  The father's sister is given a special role and she gets more respect than the mother.

 (c)  Showing respect to elders by using some respectful terminology.
 (d)  A custom of addressing a person by relationship to their child.

 Key: D
 

Itemcode : CI1038
Q63
:

Who is the author of 'Social Contract Theory'?

(a)  Thomas Hobbes
 (b)  John Locke

 (c)  Jean Jaques Rousseau
 (d)  Charles Montesquieu

 Key: C
 

Itemcode : CI1039
Q64
:

Which category does the Veerashaivism movement belong to?

(a)  Religious movement
 (b)  Political movement

 (c)  Environment movement
 (d)  Women's movement

 Key: A
 

Itemcode : CI1040
Q65
:

Who gave the concept of 'Cultural Lag'?

(a)  W. G. Sumner
 (b)  Evans Pritchard
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(c)  Margaret Mead
 (d)  W. F. Ogburn

 Key: D
 

Itemcode : CI1041
Q66
:

Name the author of the book 'Communalism in Modern India'.

(a)  K.N. Panikkar
 (b)  Bipan Chandra
 (c)  Chandra Shekhar

 (d)  Subhash Chandra Bose
 Key: B

 

Itemcode : CI1042
Q67
:

Which philosopher developed the Phenomenological perspective?

(a)  Edmund Husserl
 (b)  Alfred Schutz

 (c)  Jean-Paul Sartre
 (d)  Karl Jaspers

 Key: B
 

Itemcode : CI1043
Q68
:

How many years did it take to complete the construction of Sardar Sarovar Dam?

(a)  46 years
 (b)  52 years
 (c)  56 years
 (d)  58 years
 Key: C

 

Itemcode : CI1044
Q69
:

Who presented the concept 'Social Distance'?

(a)  Robert Ezra Park
 (b)  C. H. Cooley

 (c)  Kingsley Davis
 (d)  Robert K. Merton

 Key: A
 

Itemcode : CI1045
Q70
:

In which year was the Right to Education Act enacted?

(a)  2004
 (b)  2006
 (c)  2007
 (d)  2009
 Key: D

 

Itemcode : CI1046
Q71
:

Which of these is a new right assured by the Supreme Court of India?

(a)  The right against exploitation
 (b)  The right to freedom of religion

 (c)  The cultural and educational rights
 (d)  The right to privacy

 Key: D
 

Itemcode : CI1047
Q72
:

Which of these is not a pilgrimage centre in India?

(a)  Tunganath temple
 (b)  Pashupatinath temple

 (c)  Somnath temple
 (d)  Parli Vaijnath temple

 Key: B
 

Itemcode : CI1048
Q73
:

Who is the author of the book 'Andaman Islanders'?

(a)  Bronislaw Malinowski
 (b)  Margaret Mead

 (c)  Alfred Radcliffe-Brown
 (d)  Evans Pritchard

 Key: C
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Itemcode : CI1049
Q74
:

Which thinker introduced the concept of 'reconstructive science'?

(a)  Michel Foucault
 (b)  Jurgen Habermas

 (c)  Karl Marx
 (d)  Max Weber

 Key: B
 

Itemcode : CI1050
Q75
:

Who is the propagator of the 'Chipko Movement'?

(a)  Sunderlal Bahuguna
 (b)  Medha Patkar

 (c)  Salim Ali
 (d)  Maneka Gandhi

 Key: A
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